
GENUINE PARTS

INSTALLATION INSTRUCTIONS

1. DESCRIPTION:   Air Bag Anti-Theft Bolt M8 & M6, Air Bag Anti-Theft Nut M6

2.    APPLICATION:
Driver Side Airbag Anti-Theft Bolt P/N 999L2-AL000
Nissan: 350Z (2003-2008), 370Z (2009~), Altima (2000-2012), Altima Coupe (2008~), Armada (2004~), 

, 2013~
Sentra (2000~2012), Titan (2004~), Xterra (2001-04), Juke (2011), Leaf (2011), NV (2011~)

 FX35 (2003~), FX45 (2003-08), FX50 (2009), G3x (2003~), I30 (2000-01), I35 (2002-04), EX35 (2008~),
x , 2011~ , JX (2012~)

Passenger Side Airbag Anti-Theft Bolt P/N 999M1-AD000
Nissan: 200SX (1997-1998), 240SX (1997-1998), 350Z (2003-2008), 370Z (2009~), Altima (1997~), Altima 

~ , 2013~
(1997~), Xterra (2000-04), Quest (2011~), NV (2011~), NV200 (2013~)

 FX35 (2003~), FX45 (2003-08), FX50 (2009~), G20 (1999-2002), G3x (2003~), EX35 (2008~), I30 (1997
-01), x , 2011~) ), QX4 (1997-03), JX (2012~)
Passenger Side Airbag Anti-Theft Nut P/N 999W5-AQ000
Nissan: 2012 -2009 Juke
(2011~) , Leaf (2011~)
Infiniti: QX56 (2004~)

3.    PART NUMBER: 

 4. KIT CONTENTS: Anti-theft air bag lock (For Dealer Purchase Only)

5.    TOOLS REQUIRED:
M8 

or 10mm hex deep well , 1/4” Drive torque
       wrench  Flat blade 
        screwdriver.

1/4” to 3/8” universal
       s  Set (KENT-MOORE 

P/N J-42057-UPD).
NOTE:

073238F                               Page 1 of 2    

999MI VV100II  04/05/12

P/N 999L2-AL000
Item QTY Description

A 10 Lock bolt M6

P/N 999M1-AD000
Item QTY Description

A 10 Lock bolt M8

P/N 999W5-AQ000
Item QTY Description

A 10 Lock nut M6



6. INSTALLATION PREPARATION:

7. INFINITI / NISSAN DRIVER SIDE AIR BAG ANTI-THEFT BOLT INSTALLATION (one bolt)
only one two,

a * only one
two to  side of the

*Note-Some models use standard 10mm socket

 8. INFINITI / NISSAN PASSENGER SIDE AIR BAG ANTI-THEFT BOLT INSTALLATION (one bolt)

2. Remove one hex bolt from the mounting bracket. 

9. INFINITI / NISSAN PASSENGER SIDE AIR BAG ANTI-THEFT NUT INSTALLATION (one nut)

10.  CONTENTS DECAL INSTALLATION:

CAUTION!
350Z, 370Z and G35/37C.

073238F               Page 2 of 2  999MI VV100II REV 04/05/12

(See Step 2)


